RROTKBHRIWIVEIVL-BINRRRERRRET7 U r—MaRO(—8)

2 mE K 293%
B & &F & 1704
B Ix X 58%
A1 |[fEFF 1. XEBE 152 89%
2. RRELIS} 15 9%
A E 3 2%
it 170 100%
B2 |5 1. Bi% 146 86%
2. ik 23 13%
MEE 1 1%
i 170 100%
I3 | 1. 10mAR 1 0%
2. 20%% 8 5%
3. 30kt 8 5%
4. 40% AR 41 24%
5. 50t 32 19%
6. 60 57 34%
7. 70%A8 20 12%
8. 80m At 1 0%
|mAE 2 1%
i 170 100%
4 | ZEREOHFMOTRICOVNTEH >TWELEA? 1. "Al->TL= 142 83%
2. Mnih-of= 25 15%
fEEE 3 2%
it 170 100%
5 | REEZMBREFRNMUNIN TSI EEM>TWVELEN? 1. fI-TLV= 150 88%
2. MoEhor= 20 12%
it 170 100%
6 |REEHFRMEREMRZFALZRVEARNREZM>TOELEN? |1. A>TV 132 78%
2. MnEhol= 38 22%
it 170 100%
7 |B6TIEBEAZ-AIZE2RLET, 1. B AN IHROEE 58
HoTWERUEARBIEZT ~3OEORUMEHTI A ? 2. FBELER UMD E 50
(EHEZA) 3. ZRIRIEH B DOHE A 59
£t 197
M7OEZERR|T. HEANTHROEHDH 124 7%
2. MELEEILOREDH 84 5%
3. EMBEHBEOHEDH E4 6%
1&£2 84 5%
1£3 104 6%
2&3 T4 4%
1-2-32T 774 45%
fEEE 374 22%
it 1704 100%
M8 |EREZMEBEROMLHEACHENEESBVNETM? 1. KOMZERRL 108 64%
2. FELMEEZIXER 49 29%
3. EFBELMEE ZIX KRR 6 3%
4. ot 0 0%
fEEE 7 4%
it 170 100%




RROTALHIKUIVRIVL-FRIREBHERRRS

i1 {EFfRr BREREDRAS

=B 47 31%

RS AF=HET 1T 1%

’ﬁﬁ%u% 2% RANERLLTH 0 7%
% X 3 2%
EEH 12 8%

HETH 7 5%

Hi&th 4 3%

{Hprh 1T 1%

HENTH 10 7%

S 3 2%

Fieth 16 11%

=EE LR F 1 1%

Tg%.,/Lr SEREET 3 2%

’ = SERHT 2 1%

2 15 s b 18 BT 2 1%
sy =] I 1 10

o %k % JIIFR AT %

0,
13% A3 i
70
12%
1. BiE
86% 60t

34%

5 FHFMIREHDEUN

it of-
12%

4 RREDOHFMOEFK

E|EE
oot 2%
15%

HoTLV=
88%

HoTLV =
83%

7 H->TULW:=BRYHEAAE
mEL-BLO
WE AN H
BN H 5%
7%

RRREZEOD
H

’ %t
6% v
1&£2

5%
1&3 ELLMNETAIE

6% HAL

29%

BOE
22%

1-2-3%2T 243
45% 4%

Fr—MER2A(777)

1%

1%

2%

2%
2%

1%

1%

1%

1%
2%
1%

1%

1%

1%

7.'

3

H
Bl=|=]o|=]w|=]=]=]]ww|w || =

3%

i 152 100%

ELoMEEAIL

EEZ 20t
5%
30t
5%

40X
24%

50
19%

M6 FMREREZTAL-IERES

HMoiEM>T=
22%

Ho>TLV=
99%

18 DL HAOEENT

BOE
4%

1. RUDMZERR
64%



